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Gr-C-2B
AiEM  rAEAE 105. 7%0. 04 = 4.23 4.00 [ m3
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RC-40 t=10cm (2% :0.67Tm3/10m&»H7-9)
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EHABEEE2S | V = 3.5 x 3.8 = 13.3

&t 33.5 33.5 m3
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EHRXBEE1IS | A = 1.48 x 4.3 = 6.4
EHAXBEEE2S | A = 1.71 x 3.8 = 6.5

HEt 12.9 12.9 m2
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M
(20cmLLF) i1
HLavyy—k i
BEET —RELE
EEE EEGL




BEhAEE2E B g e
1®HY
% FR &t 1 % i =
18 4.3~8.1 GW36
STiER BIEAES 1: 0. 60 HEAHEI 1:  0.000
PERES Kimhg | EARIZ BrmEiE | BE
2.14 0. 40 1.68 2.23
2.20 0. 40 1.72 2.33
2.22 0. 40 1.73 2.36
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&t 0.81 m2
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M = 0.67 x 10.0 = 6.70 6.7 m2
RC-40
A IN—k
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avyl)—+r = 0.57 x 10.0 = 570 m2
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B = 0.05 x 10.0 x 2 = 1.00 1.0 m2
M = 0.67 x 10.0 = 6.70 6.7 m2
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18-8-25BB
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g
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FERET A = 64.8 = 64.8 64.8 m2

RET A =648 + 70.0 = 134.8 134.8 m2
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X N = 6 T
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EIGERE L = 04 x 6 = 2.4 2.4 m

VU ¢ 200 X 400




B & Y B = I H & =
1X5Y
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A—KL—)L L = 2.7 = 2.70 2.7m
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XKigarHoy—k | V = 0056 x (1.6 + 2.0 + 1.5 + 1.6) = 0.34
PB-B700-H700 V = 0.41 x 2.0 = 0.82
ik V = 0.35 x (3.0 + 2.6) = 1.96
yi V = 0.08 x 1 = 0.08
BF-250 V = 0.04 x 8.2 = 0.33
ka2 0)—k V = 3.51 x 0.1 = 0.35
HIEHERE V =002 x 2 = 0.04
=5 3.92 3.92 m3
BEEY
FRAR V = 0.96 x 1 = 0.96 0.96 m3
SRR Y ER L =201 + 2.38 + 3.99 + 17.80 + 0.30 = 26. 48 26.5m
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t=15cmBl T
S A = 357 + 70.00 = 105. 7 105. 7 m2
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& I B HE 2R
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HiFHEE N = 1 = 1 1




#w E Y B =I H ®H £

1XHY

£ g it g = # =

7% 18 it =392 + 0.96 = 4.88 4.9 m3
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BOE M =105.7 x 0.04 = 4.23 4.2 m3
T AI7ILE

RIGHR S MERK = 16.0 x 2.7 + 15.6 x 1 = 58. 80 58. 8 kg
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YY) =FREM a2 —k&kY 4.88 4.9 m3
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s =& 7AI7ILEEKY 4,23 4.2 m3
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A —A4 HBER=E KM
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RIBERE =8 HBERE EH
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BEERE EH BRI EH
fit b FH B B A ECEIE 300 X 500 L=2000 428kg/ZA M ]
BRARAERIL—F 9 BREspEn EE EIBERE EH
SR BB AERAIER 3008 L=995 T-25 23.8kg e M
/¥
BHAERAERIVY)—+ & BB E EH BB E EH
300/ L=500 41kg/#& M M
IREERE EH RERE EH
IBIEEZILE VP ¢200 M g
RERE EH RERE EH
BIEEZILE VU ¢ 200 M A
REEEER EE R RE
L —JL(Gr—-C-2BH) 2.3 X350 x 4330 M M
BypspEy SoB IHIEERE EH
RAKGr-C-2BFH) 45%x114.3%1100 M A
By EE R X8
#L—)L(Gr-C-2BFA) 2.3 % 382 X 660 M A




